Name:                                                          	 			Date: ___________________
Factor puzzles	  					Autumn 1 – Week 1 – Extension 1

Find the integer which satisfies each of these puzzles
a) it has exactly 4 factors, one of which is 9
The number is _________ because:



b) it has exactly 3 factors, one of which is 5
The number is _________ because:



c) it is the smallest number with 6 factors, one of which is 6
The number is _________ because:



d) it has exactly 4 factors. 2 of which add to 10
The number is _________ because:



e) it is the smallest number with 6 factors, one of which is 10
The number is _________ because:
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